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SECTION A

Each Question will carry 5 Marks

S. No. Marks | CO
Select the most appropriate (5x6)

Q1 Find the derivative of the following function: f(x) = x? + 6x + 9 Co1

(A)F'(x)=2x+6+9
B)fx)=x2+6
O)Px)=2x+6

(D) (x) =2x

Q2. The product of a matrix and its multiplicative inverse is a/an: CO1

(A) Identity Matrix

(B) Singular Matrix

(C) Non Singular Matrix
(D) Diagonal Matrix

x+y 7 B
L

(A)2 &3
(B)3&?2
(C)2&5
(D)5 &3

—

h

CO1

J then x and y are:

[




Q4. If A and B are sets and AU B= A N B, then Cco1
(A A=
(B)B=®
(C)A=B
(D)None of these
Q5. In an Arithmetic Progression, if a=28, d=-4, n=7, then an is: Co1
(A)4
(B)5
(C)3
(D)7
T T 2;
| +vy T+ 2y | cot
Q6. The value of the determinant |z + 2y T r+y|is
r+y x+2y r |
(A) 9% (x +y)
(B) 9y” (x +)
(C)3y“(x +y)
(D) 7X*(x +y)
SECTION B
Each question will carry 10 marks (10x5)
Q. f 4= |~ " |then verify that A-1A — 1
«A = 3 5 1€11l VET1Ty 14T » F COZ
Q8. An Arithmetic Progression has 23 terms, the sum of the middle three terms of this
arithmetic progression is 720, and the sum of the last three terms of this Arithmetic co2
Progression is 1320. What is the 18th term of this Arithmetic Progression?
Q9. Evaluate the following integrals:
) pxa_l d B 5
() [ iz X (i) [(3 exp(3x) + x?)dx CcO2




Q10. | Determine the conditions under which the function y = x* -6x* + 1 will have (i) a
maxima (ii) a minima.Also find out the maximum and minimum value of the function. cO3
Q 11. Solve the following system of equations, using cramer’s rule:
X+2Y+3Z2=-5
3IX+Y-3Z =4 Co3
SBX+AY+TZ =7
SECTION-C
Each Question carries 20 Marks (20x1)
Q12. | How matrix is different from determinant.Explain with eaxmples.Solve the following
equations by using inverse matrix method.
.1‘—2L‘l_‘+::'—1— CcO4
X— 3y —z=—2
Z2x+v4+z=z=235






